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IMPORTANT NOTES:
1) Please make sure that you have written your student number and name above.
2) Check that the exam paper contains 6 problems.

3) Show all your work. No points will be given to correct answers without reasonable
work.
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L a) (7 points) Is the sequence a, = (1 - 2) convergent or divergent?
n

Explain your answer.
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b) (8 points) Is the series Z (1 - E) convergent or divergent?

n=1

Explain and indicate which tests you use.
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2. Are the following series convergent or divergent? Explain and indicate which tests y
use.
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3- Are the f . X
ollowing series convergent or divergent? Explain and indicate which tests you

use.
a) (7 points) 3~ (1= 1)
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b) (8 points) i (7; 1:(:'2))"

n=1

Root Tes!:

r n lr\/l A
l\m
Ata™

(\—-—')
Ia A _o0 )
TP (&
/\:;oo 1ot i
_ lipaygiftnn’ < (:5)
o
N—) R Zn
il :
7 N—) 2 2.




4. (15 points) Is the series Z n: c°+ . ) absolutely convergent, conditionally convergent

or divergent?
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5. a) (10 points) Find the Maclaurin series (Taylor series around & = 0) generated by
f(x) o 111(1 + 21;)
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b) (5 pomts) What is the radius and the interval of convergence"
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¢) (5 points) Estimate In(1.8) using first two terms of the series you found in part a).
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6. Equation of a line and two planes are given as

(: =3t y=-1+3t, z=-243t, —-oc0<t<X,
P: dz-y-2=3, and Q: z-y+2z=3
a) (7 points) Find the line of intersection of the given planes.
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b) (8 points)

o If the line £ and the plane Q are parallel, find the distance between them.
o If they are not, find their point of intersection.
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